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One factor of the expression [image: image1.png]


 is
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The greatest common factor of [image: image6.png]3min + 12mn?



 is?
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The greatest common factor of [image: image11.png]4’ b



 and [image: image12.png]6ab’®



 is
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If one factor of [image: image17.png]s6xty”
W - 42yt



 is [image: image18.png]14x%;
4x%y*



, what is the other factor?
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If Ann correctly factors an expression that is the difference of two perfect squares, her factors could be

	1)
	[image: image23.png](2x+y)(x— 2y)





	2)
	[image: image24.png](2x+ 3y)(2x - 3y)





	3)
	[image: image25.png](x—4)(x-4)





	4)
	[image: image26.png](Zy-5)y-15)
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Written in factored form, the binomial [image: image27.png]1652



 is equivalent to

	1)
	[image: image28.png](@ —48)(a + 48)





	2)
	[image: image29.png](@ — 4b)(a - 48)





	3)
	[image: image30.png](@ — 88)(a + 84)





	4)
	[image: image31.png](@ — 88)(a — 84)
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The expression [image: image32.png]


 is equivalent to

	1)
	[image: image33.png](x — 6y)(x - 6y)





	2)
	[image: image34.png](x— 18y)(x— 18y)





	3)
	[image: image35.png](x+ 6y)(x — 6y)





	4)
	[image: image36.png](x+ 18y)(x— 18y)
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Expressed in factored form, the binomial [image: image37.png]4a? — 9p?



 is equivalent to

	1)
	[image: image38.png](2a - 3b)(2a - 3b)





	2)
	[image: image39.png](2a + 3B)(2a - 3b)





	3)
	[image: image40.png](4 — 3B)(a + 3&)





	4)
	[image: image41.png](2a - 98)(2a + &)
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The expression [image: image42.png]9g? —
6ah?



 is equivalent to

	1)
	[image: image43.png](9 — 8B)(a + 8&)





	2)
	[image: image44.png](9 — 8B)(a — 8&)





	3)
	[image: image45.png](3@ — 8B)(3a + 8h)





	4)
	[image: image46.png](3@ - 88)(3a - 8h)
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Factored, the expression [image: image47.png]16x° - 25°



 is equivalent to

	1)
	[image: image48.png](4x = 5y)(4x + 59)





	2)
	[image: image49.png](4x = 5y)(4x - 59)





	3)
	[image: image50.png](8x— 5y)(8x + 5)





	4)
	[image: image51.png](8x— 5y)(8x - 5)
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If the area of a rectangle is expressed as [image: image52.png]


, then the product of the length and the width of the rectangle could be expressed as

	1)
	[image: image53.png](x=3)x+ 3y





	2)
	[image: image54.png](x* - ) + 3y)





	3)
	[image: image55.png](x* - ) - 3y)





	4)
	[image: image56.png](x*+
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Which expression represents [image: image57.png]36x° - 100y°



 factored completely?

	1)
	[image: image58.png]2(0x + 2597 )(9x - 250°)





	2)
	[image: image59.png]4(3x + 57 )(3x - 55°)





	3)
	[image: image60.png](6x+ 10y )(6x — 10y°)





	4)
	[image: image61.png](18x+ 50y°)(18x — 50y°)
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Factor:  [image: image62.png]
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Factor:  [image: image63.png]al +ab- 1252
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Factor:  [image: image64.png]20 + ab - 652
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Factor:  [image: image65.png]4a® — 12ab + 92
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Factor:  [image: image66.png]6a’ + Sab - 652
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Factor:  [image: image67.png]6a’ — 5ab - 652





19
Factor:  [image: image68.png]6x° - 13xy+ 6)°
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Factor:  [image: image69.png]6a? + 13ab + 652
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Factor:  [image: image70.png]1222 - 5ab - 362
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Factor:  [image: image71.png]16a* + 8a2b? + *
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Factor completely:  [image: image72.png]10ax? - 23ax- 5a
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Factor completely: [image: image73.png]




25
Factor:  [image: image74.png]12a% - 2782
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Factor completely: [image: image75.png]5x°y° — 180y





27
Factor:  [image: image76.png]4a’bt - 252%y
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Factor:  [image: image77.png]92 — 165
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Factor:  [image: image78.png]Xy Zxyeyt -4
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.  [image: image94.png]Zax® - 27a = 3a(x - 9) = 3a(x+3)(x - 3)
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REF:
069303al

26
ANS:


[image: image96.png]Sy(xy + 6)(xy — 6)




REF:
069813siii

27
ANS:


[image: image97.png](2ab® + 522y )(2ab® - 55°%)




REF:
019405al

28
ANS:


[image: image98.png](3a® + 461 (3% - 454




REF:
119304al

29
ANS:


[image: image99.png](x+y+ Dx+y-2)




REF:
019105al

